Engineering Mechanics – Statics CE 201-012 (02 & 03)

Notes: Lectures 10-13




The following notes summarize the key issues introduced in lectures 10-13. The issues stressed in these lectures are mainly:

· The definition of cross product of two vectors: V1 x V2  = V1 V2 sin The result is a new vector whose positive direction is determined by the right hand thumb rule.  
Note:  dnormal to V2  = V1  sin 
· Moment of a force F about a general axis passing through point p: Mp = rP x F. 
· Moment of a force about a specific axis ll = ull . Mp = ull  .  ( rP x F). This value is important to distinguish between the moments about the other axes (infinite number of axes) passing through the same point.
· The use of the determinant procedure to compute a moment about a point or a moment about an axis.
MP= vector given by the following determinant:
i   j     k  

rx  ry     rz

Fx  Fy     Fz
· The following notes/example illustrate some of the points listed above:
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Note: The negative sign means that moment is in the opposite direction = MCA.
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